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NUMBER: PROPERTIES
PLACE VALUE

SECTION 1 Ordering numbers

SECTION 2 Multiples

SECTION 3  Tests of divisibility

SECTION 4  Factors
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UNIT NUMBER: PROPERTIES
9 PLACE VALUE

SUGGESTED TIME 4 hourS

TEACHING OBJECTIVES

e Usesymbols =, <, >, 2, <,

e Order a set of whole numbers less than 1 million.

e Recognise square numbers to 12 X 12,

e Recognise multiples of 6, 7, 8, 9 up to the 10th multiple.

e Know and apply tests of divisibility of 2, 4, 5, 10 or 100.

e |dentify factors of two-digit numbers.

e Make and investigate a general statement about numbers, by finding examples
that satisfy it.
SECTION 1 Ordering numbers
SECTION 2 Multiples

SECTION 3 Tests of divisibility

SECTION 4  Factors

HOMEWORK

e Star Challenges 4 and 5 practise multiples of 2, 5 and 10.
e Star Challenge 9 consolidates prime numbers.

e Revise square numbers from Unit 1 and extend to, for example, 60 X 60.
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Unit 9 Checklist for pupils

Key Stage 3 National Strategy

SPRINGBOARD 7

PART 3 UNIT 9 CHECKLIST

Ordering numbers

You will:
e order numbers
® use =, <, > = and < signs

0 O

Multiples

You will:
e recognise multiples of 6, 7, 8 and 9
e |earn multiplication tables

01O

Tests of divisibility

You will:
e divide two-digit numbers by 4
e know how to test if a number is divisible by 2, 4, 5, 10 or 100

N

Factors

You will:
e |earn the meaning of 'factor’
e find factors of two-digit numbers
® recognise prime numbers

N
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UNIT SECTION 1: ORDERING
9 NUMBERS

DIRECT TEACHING POINTS

e Use the most significant digit to order numbers.

Which is bigger?

e, . 437 T PRI .

(a) 437 or 4732 both numbers have / \7 tens (70) are more than 3 tens (30),
: 4 hundreds : ;= so the bottom number is bigger
TR, .y 4 743/ ....................................... gg .............

(b) 5321 or 739?

five thousand

i andnothousands =2, ;39  So[5321] is bigger

e Use a number line to help pupils visualise the relative positions of numbers and
hence order them. Illustrate on a board or OHP with pupils marking numbers.
For example:

1 Circle each whole number greater than 4 and less than 10.
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

3 Circle each whole number greater than -4 and less than 4.

e Pupils need to be familiar with the symbols =, <, >, and then 2, <.

e Explain key vocabulary including 'ascending’ and 'descending’.

OCABy,

N (4
& 7, . o .
¥ < equals isequal to= s greater than > s less than <
6( & greatest  largest biggest smallest least  ascending
“ry a©

descending order
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//:o ordering numbers O N

Key Stage 3 National Strategy

SPRINGBOARD 7

PART 3 UNIT 9 secTioN 1

Putting numbers

into order

Which is bigger?
(a) 437 or 4732

: i both numbers 7hte"5 (70) are moreh
: have 4 hundreds than 3 tens (30), so the

e N\ «—7 bottom number is bigger :

47 . N
3 ..............................................

So is bigger

Start with the digit

b) 5321 or 739? ~ontheleft.
®) c321 Think of a number line!
five thousand / N

HELPFUL)

i and no thousands

eeeesstcenstctntstnntetnsinnnne \ 739
So is bigger

Circle the LARGEST number in each set.

1 86 68 5 2649 2647 p
2 357 537 6 7439 7454

3 2451 4251 7 1824 1839 1799

4 3673 876 8 6429 6492 6498

Circle the SMALLEST number in each set.
9 7035 7112 11 2481 898 1009

10 637 6037 6307 12 358 3508 3085
13 John swam 758 metres in 5 minutes.

Dave swam 857 metres in 5 minutes.
Who swam further? ...................... ...
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PART 3 UNIT 9 secTioN 1

Putting numbers
into order

2 < 3 means ‘2 is less than 3’

7 > 6 means ‘7 is greater than 6’

.
....................................................................

1.5>4 26<9 34<7 4 -5> -4 5 -2<-1

Put <, > or = into each D to make a true sentence.

OEFS R (PEED| (TERD

(10 One hundred and one D 101 J (11 One thousand and one D 101 J

| J

//=° 2 and £ signs O N

....................................................................

....................................................................

1 Circle those numbers that are < 50.

45 73 50 49
92 38 69 29

....................................................................

....................................................................

2  Circle those numbers that are =2 150.

145 78 161 249
155 94 150 179
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SPRINGBOARD 7

PART 3 UNIT 9 secTioN 1

Putting numbers

into order

o - g
\

All correct 1 star

36 63 58 85 65 (1 mark)

809 929 109 901 89 (1 mark)

54 505 55 550 500 (1 mark)

231 321 203 2031 302 (1 mark)

Plymouth is 241 miles from London. York is 212 miles from London.

Which of these two towns is the GREATER distance from London? (1 mark)
Perth is 544 miles from Dover. Glasgow is 497 miles from Dover.

Which of these two towns is the LESSER distance from Dover? (1 mark)
Plymouth is 336 miles from Leeds. Aberdeen is 335 miles from Leeds.

(a) Which of these two towns is the FURTHER from Leeds? (2 marks)

(@) How much further is it?

(2 marks)

Lottery winners
Mary Green won £23 546
Joe Brown won £23 564
Dave Black won £22 76&

(@) Who won the most?
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PART 3 UNIT 9 secTioN 1

Putting numbers

into order

prLEy
& A G
AN & Ordering numbers '
fﬁo e using < and > O

All correct 1 star

We can put 2, 11, 3, 7 in order of size as
2< 3<K<7< 11

with the smallest humber first.

Do the same with:
1 46, 64, 35, 53, 56, 65

2 53, 35, 351, 531, 503

We can put 2, 11, 3, 7 in order of size as
11> 7 > 3 > 2

with the largest number first.

Do the same with:
3 32,23, 34, 43, 42

4 456, 546, 654, 465, 564

&
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SECTIONS 2, 3 AND 4:
MULTIPLES
9 TESTS OF DIVISIBILITY
FACTORS

DIRECT TEACHING POINTS

e Pupils need to understand and use the language of multiples and factors.

e Exercises 1 and 2 give the opportunity to reinforce multiples. It may be preferable to
concentrate on one set at a time, such as multiples of 6, then multiples of 7, and so on.

e Exercise 3 consolidates mental addition and subtraction.

e Star Challenge 3 encourages pupils to develop their mathematical reasoning.

You need to discuss pupils’ explanations.

e Pupils should be familiar with tests of divisibility for 2, 5 and 10. Section 3 exercise

1 and Star Challenges 4 and 5 can serve as revision.
e Revise the 4 times table and halving as an introduction to the test of divisibility for 4.

e You need to explain the test of divisibility for 4. Four is a factor of 100, hence you

need only to test the number formed by the last two digits, as in exercise 3.
® You can extend tests of divisibility to include 3, 6 and 9.

e Section 4 exercises 1 and 2 and Star Challenges 7 and 8 provide practice in identifying

factors of numbers.

e Reinforce multiplication bonds and the corresponding division facts,
for example, 8 x 7=56,56+7=8,56 +8=7.

e Teach prime numbers as numbers having two, and only two factors: emphasise

that 1 is not a prime number.

4OCABY,

A hJ , .
R % prime number multiple factor
g{ & divide divisible divisibility

Sy aO
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Multiples of humbers

Multiples of 6 and 7

.............................................................

Multiples of 6 are: 6 12 18 ...

Multiples of 7 are: 7 14 21 ...

.
............................................................

B: Shade
multiples of 6

1 2 3 4 5
6 7 8 9 10
11 12 13 14 15
16 17 18 19 20
21 22 23 24 25
26 27 28 29 30
31 32 33 34 35
36 37 38 39 40
41 42 43 44 45
46 47 48 49 50
51 52 53 54 55
56 57 58 59 60
61 62 63 64 65
66 67 68 69 70
71 72 73 74 75
76 77 78 79 80
81 82 83 84 85
8 87 88 89 90

D: Shade multiples of 7
2 3 4 5 6
15 16 17 18 19 20
29 30 31 32 33 34
43 44 45 46 47 48
57 58 59 60 61 62
71 72 73 74 75 76
85 8 87 83 89 90

-

A: Shade multiples of 6

1

10
19
28
37
46
55
64
73

2
11
20
29
38
47
56
65
74

3

12
21
30
39
48
57
66
75

4
13
22
31
40
49
58
67
76

5
14
23
32
41
50
59
68
77

6

15
24
33
42
51
60
69
78

C: Shade multiples of 7

1

7

13
19
25
31
37
43
49
55
61
67
73
79
85
91

21
35
49
63
77
91

2
8

14
20
26
32
38
44
50
56
62
68
74
80
86
92

22
36
50
64
78
92

3

9

15
21
27
33
39
45
51
57
63
69
75
81
87
93

23
37
51
65
79
93

4
10
16
22
28
34
40
46
52
58
64
70
76
82
88
94

10
24
38
52
66
80
94

5
11

17
23
29
35
41

47
53
59
65
71

77
83
89
95

11

25
39
53
67
81
95

6

12
18
24
30
36
42
48
54
60
66
72
78
84
20
96

12
26
40
54
68
82
926

7
16
25
34
43
52
61
70
79

13
27
41
55
69
83
97

8

17
26
35
44
53
62
71
80

9

18
27
36
45
54
63
72
81

PAGE
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1

19
37
55
73
91

2

20
38
56
74
92

3

21
39
57
75
93

Shade multiples

2
9

16
23
30
37
44
51
58
65
72
79
86

Multiples of nhumbers

Multiples of 8 and 9

4

22
40
58
76
94

3

10
17
24
31
38
45
52
59
66
73
80
87

H: Shade multiples of 9

1

12
23
34
45
56
67
78

5

23
41
59
77
95

4
11
18
25
32
39
46
53
60
67
74
81
88

2

13
24
35
46
57
68
79

E: Shade multiples of &

6

24
42
60
78
96

5
12
19
26
33
40
47
54
61
68
75
82
89

3

14
25
36
47
58
69
80

7
25
43
61
79
97

of &

13
20
27
34
41
48
55
62
69
76
83
20

4
15
26
37
48
59
70
81

26
44
62
80
98

14
21
28
35
42
49
56
63
70
77
84
91

Multiples of 8 are: 8 16 24 ...

Multiples of 9 are: 9 18 27 ...

5

16
27
38
49
60
71
82

............................................................

............................................................

27 28
45 46
63 64
81 82

G: Shade multiples

1
11
21
31
41
51
61
71
81
91

6

17
28
39
50
61
72
83

2

12
22
32
42
52
62
72
82
92

7

18
29
40
51
62
73
84

11
29
47
65
83

3
13
23
33
43
53
63
73
83
93

19
30
41
52
63
74
85

12
30
48
66
84

4
14
24
34
44
54
64
74
84
94

20
31
42
53
64
75
86

13
31
49
67
85

5
15
25
35
45
55
65
75
85
95

10
21
32
43
54
65
76
87

14
32
50
68
86

of 9

16
26
36
46
56
66
76
86
96

11
22
33
44
55
66
77
88

15
33
51
69
87

7
17
27
37
47
57
67
77
87
97

Key Stage 3 National Strategy

SPRINGBOARD 7

PART 3 UNIT 9 SECTION 2

16
34
52
70
88

8
18
28
38
48
58
68
78
88
98

17
35
53
71
89

9
19
29
39
49
59
69
79
89
99

10
20
30
40
50
60
70
80
90

18
36
54
72
90

N
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PART 3 UNIT 9 SECTION 2

Multiples of humbers

Counting on and back in 6s,

7s, 8s and 9s O N

Fill in the rule and extend each of these sequences.

1 Rule: add 8 5 13 .
2 Rule:add..... 8 15 .
3 Rule:add..... 21 27 .
4 Rule: subtract ..... 73 64 ... .
> Rule: subtract ..... 32 24 ... 0 L e
6 Rule:add..... -16 -10 ..... ... ... 0
7 Rule:add..... 7 16 ... .
8 Rule:add..... -9 =3
9 Rule: subtract ..... 32 26 ... e e

&0 Rule: add ..... 20 29 ... J
2P e,

-4 =7;_='
fﬁ P e Statements about multiples * O N

Write down if each statement is True (T) or False (F). | 6 correct 1 star
If it is true, explain how you know.
If it is false, give an example to show it is false.
TorF Example or explanation

1 Multiples of 6 are all even.

> In multiples of 9 less than 100,
the dlglts always add up tO 9 .........................................

& In multiples of 7 less than 100,
the digits always add up tO 7. .........................................

& ........................................................................................................ J
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Key Stage 3 National Strategy

SPRINGBOARD 7

PART 3 UNIT 9 SECTION 2

Testing for divisibility

)

Numbers divisible by 2, 5,
//=o 10 or 100

Divisible
means ‘can
be divided

1 Eight of these numbers are divisible by 10. Circle them.

60 75 30 36 70 45 69

95 40 300 125 240 450 35

2 Eight of these numbers are divisible by 5. Circle them.

52 55 70 19 80 23 69

85 44 900 225 314 128 15

3 Eight of these numbers are divisible by 2. Circle them.

17 28 567 678 120 561 2472

24 15 40 16 71 35 68 201

4 Eight of these numbers are divisible by 100. Circle them.

9100 400 3000 125 2000 450 750 000

605 750 30 360 700 45 1300 100
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PART 3 UNIT 9 secTiON 3

Testing for divisibility

//=e Dividing 2-digit numbers by 4 O

J

1DEA
o\ -
_ — To divide by 4, halve the
—_— - number, then halve it again.
—
1 12+4 = . 3 36+4=.. . 5 84+4=. 7 52+4 = ...
2 44 +4 = .. . 4 68+4= ... . 6 204 =.... 8 92+:4 = ..
Test of divisibility by 4 O

A number is divisible by 4, if dividing by 4 gives a whole number.

Is 72 divisible by 4?

Half of 72 = 36
Half of 36 = 18

So 72 is divisible by 4

Is 86 divisible by 4?

Half of 86 = 43
Half of 43 = 213

So 86 is not divisible by 4

1 1s 56 divisibleby 4? ................... 3 1s 9 divisible by 4?

2 |s 88 divisibleby 4?2 .................... 4 |Is 26 divisibleby 4? ...................

....................................................................

If a large humber is divisible by 4,
its last two digits are divisible by 4.

....................................................................

5 Eight of the numbers below are divisible by 4. Circle them.

240 315 420 1680 710 346 6888 2030

1555 2442 5672 6728 1200 561 2436

7
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SPRINGBOARD 7

PART 3 UNIT 9 SEcTION 3

Testing for divisibility

Using divisibility tests

* o

N

22-24 correct 1 star
Number divisible by 2 divisible by 10 | divisible by 5 divisible by 4
65 No No Yes No
90 | ...
36 | ... 0 .
57 | ... ...\ .
435 | ...
390 |\ ... ..
7544 | ... | .
pLLEY,
S"A e
E Sa&s
fﬁ& ‘. Divisibility challenge! ** O N
29-30 correct 2 stars
25-28 correct 1 star
24 47 29 85
70 38 73
1 Write down all the numbers here
95 22 452 711 that are divisible by 10. (There are 5.)
Put them in order.
215 666 999
2 Write down all the numbers here
4545 8432 631 123 that are divisible by 5. (There are 11.)
252 170 290 Put them in order.
3 Write down all the numbers here
205 275 746 649 that are divisible by 2. (There are 14.)
570 391 639 Put them in order.
3390 1437 2389 542

J

PAGE
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Testing for divisibility

a2 e ‘Divisibility’ and ‘multiples of’ ¥ O

4-5 correct 1 star

-

Write down all the multiples of 10 between 14 and 52. isa
multiple

is divisibl

by 10.

5 Circle the 4 numbers below that are multiples of 3
and multiples of 5.

45 39 30

85 75 24 60

6 Circle the 5 numbers below that are multiples of 6
and multiples of 5.

50 90 30 40 60

150 45 65 120

A number

of 10 If it

N

e
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SPRINGBOARD 7

PART 3 UNIT 9 secTioN 4

//=o Factor pairs
2x3=0

RN

N

1X6=06

(2 is a factor of 6/(3 is a factor of 6|

[1is a factor of 6 ||6 is a factor of 6|

2 and 3 are a factor pair of 6

1and 6 are a factor pair of 6

The factors of 6 are | 1, 2, 3, 6
1 18=1 x 18 ... and ... ... are factors of 18
18=2 %X 9 .. ... and ... ... are factors of 18
18=3 X ... ... and ... are factors of 18
2 20=1 x ...
20=2 X ... The factorsof 20are ... ... ... ..
20 = ... X L
3 24=1 X ...
24 =2 X ...
24 = . X The factorsof 24are ... ... ... ...
24 = ... X
: The factors
Repeated factors 9=1x 9 ofmg dag,ev%/': :
9=3x%x3 write the
3 down only
once.
4 36 = X . —
36 = X .
36 = ... X The factorsof 36 are ... ... ...
36 = ... X oo L
36 = ... X o s

PAGE
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//=e Factors

Every
whole
number is
a factor
of itself.

- > (A

oes into
8= (16)

This is a factor diagram for 16.

The factors of 16 are 1, 2, 4, 8, 16.

1 Complete:

2 Complete:

goes into e
e —

goes into
12

3 6 has four factors. Find all the factors of 6. ......

4 49 has three factors. Find all the factors of 49.

5 Com plete:

6 Complete:
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10

Factor diagrams

Diagram 1
(4 marks)

Complete each of these factor diagrams:

Key Stage 3 National Strategy

SPRINGBOARD 7

PART 3 UNIT 9 secTioN 4

* %o

13 correct 2 stars
11-12 correct 1 star

N

W

Diagram 2

(4 marks)

Diagram 3
(& marks)

PAGE
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List 10 prime numbers.

7-8 correct 2 stars
5-6 correct 1 star
One is a
18 5 3 factor of
every whole
number.
2 12 6 40 ...
3 16 .. 7 49
4 27 8 50 ...
pLLEY,
STA %
==
4 ) /

9-10 correct 2 stars
7- 8 correct 1 star

fac
so

Prime numbers have only

2 factors: the only
tors of 5 are 1 and 5,
5 is a prime number.

4 is not a prime.
It has more
than 2 factors

1,2,4).

PAGE
316

Key Stage 3 National Strategy

© CROWN COPYRIGHT 2001



Key Stage 3 National Strategy
© CROWN COPYRIGHT 2001

Key Stage 3 National Strategy

SPRINGBOARD 7

PART 3 UNIT 9 ANSWERS

Unit 9 Answers

Section 1 Putting numbers into order
o Ordering numbers

1 86 S5 2649
2 537 6 7454
3 4251 7 1839
4 3673 8 6498
9 7035 11 898
10 637 12 358
13 Dave
e > and < signs
rT 2T 37 4 F 5T
6 < 7 < 8 > 9 <
10 = 1 >

e 2 and < signs
1 4 N\
B~ (0
() =
J

5 N
145 78

155 94 150 179
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Section 2

PAGE
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Unit 9 Answers

Multiples of numbers
Multiples of 6 and 7 A: Shade muttiplen of B
T @3 o4 % @ T mOW
in 4F BE 13 A4 4% 46 1T B
W MmO &z I D Mo
oM O O I K R G
1T M 30 &0 41 #F &3 &4 A%
iG 47 M & W M 3 W 5
% G BT B A% B e Bl WD
B Shade e e e
multiplen of &
T 'k 4 ¥
& 7 B @ 1 C: Shade multiples of 7
1 BE 13 14 1% i 2 1 & - I
Mot [ 1 B s *» w o ou
M 2r 11 B4 2% i2 04 9% & 47 de
2 IT I I W 18 20 B 22 33 24
N X} 313 M ¥ ™ M IFT B Omom
B 17 g WA Woax oM W =
41 d4F 41 &4 4% I Oa w4 41 6@
4 4T §N W W A3 40 & A 4T =
1 &F A0 B 55 8 58 &I &) 8% &
e 5T I 3 OEE 2 B8 A7 s M e
& & & &oe [ I T
AT a3 @ p BT 58 = W M T2
M T ™A T Ta M T MO O
R IT T T OH T oM E 82 I
. W 33 . o B & O3 OB
%o i oW N # a2 oo e
1 Bhade multiples of 7
i F] 1 4 8 = [P i L] i LE I |
B oM AT i@ 19 30 @ I @ oM 3= 2 I -
M N R XN NS N N N M 4 4 W
Al @i A% & 4T d4E 8 RO B Rr R W W B
5 OS1 SF G0 G &F M B4 & BE G7 &b & W
TATE I TAOTY T @@ OTE T OB Bl M2 E1 M4
a5 oM B B R oM I W O wE om W W %
Multiples of 8 and 9
E: Shade maltiples of &
1 F] i o & [ & w1 1 aF o m 1% A& 7 nK
M oM OH 3 ¥ @ E M ¥ O OHN @ ai @ oI @ 1
37 M ¥ M & A A 4 S A 47 ] 4 W S5 S O3
55 B8 3 % M &0 B O BY B3 B &y e a7 od o oM N RE
T4 7R M OTT A OTe BB @ A A1 R4 A B BT O @R W
a5 B M M O T O
F: Ghade suitiples of B
i 2 3 4 %5 & 7
| or W oM 17 M G Bhade multiples of &
" OAE 1T E 1% M BT 1 2 3 & % B T B W m
3 X% B 3% o3 oA il 8 13 84 B Ak 4T iR #8
I N N [ 1B M. o2 T M D I I B ¥ M
3 ¥ o™ o3y [ am a2 X oar ¥ 4 x5 4 ¥ o3\ Ay an
i1 44 4% 46 4T W = # AT &1 44 HE 4 4T 4R 4R B0
oM O MY N 5 05 51 88 %8 % 3T M N &0
5T OSE S OB B 4 B3 Bl 4@ BN 44 & 4B BT BB &Y TO
B ES BR T % W M EE Fa 80P e IF IR MR o
MOEE TE T TS M TP W & ma &4 B e 5T EE & [
TE TS OB R O3 M LI FA LR D LA R B ]
B3 BR OET BE B W W
Hy Bleacta multiples of &
i & 4 4 5 & L B[R 90 1
iz i i4 1% ik 4T i 19 M M 33
™M O™ M ET o™ om™m oW o3 3T
W oah B A7 IE iR o # Ay 4 44
B a0 47 @ 4R W0 %1 M@ oS3 S48
MoA s oW M B B OB a4 A% B
BT &1 84 ™ M 3@ T oTAa ™Y M oM
TH T o W AR &R "I T
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SPRINGBOARD 7

PART 3 UNIT 9 ANSWERS

Unit 9 Answers

Multiples of humbe continued
- |

e Counting on and back in 6s, 7s, 8s and 9s

1 5 13 21 29 37 45 53
2 add7 8 15 22 29 36 43 50
3 adde 21 27 33 39 45 51 57

4 subtract 9 73 64 55 46 37 28 19

5 subtract 8 32 24 16 8 0 -8 -16

6 addeé -16 -10 -4 2 8 14 20
7 add9 7 16 25 34 43 52 61
8 addeé -9 -3 3 9 15 21 27

9 subtract 6 32 26 20 14 8 2 -4

10 add 9 20 29 38 47 56 65 74

Section 3 Testing for divisibility

o Numbers divisible by 2, 5, 10 or 100

\.

J
2 s (52 19 23 69 \
N\

>
17 (28) 567 561 (2472)

S
N
605 750 30 360 45
. J

~N

J/

~N

4 100 (
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PART 3 UNIT 9 ANSWERS

Unit 9Answers

hg for d b continued

e Dividing 2-digit numbers by 4

1 3 3 9 5 21 7 13

2 11 4 17 6 5 8 23
e Test of divisibility by 4

1 Yes 2  Yes 3 No 4 No

5 315 1680)710 346 (6888) 2030
1555 2442 @672} (6728) (1200) 561 (2436

0 Factor pairs
1

1 and 18
2and 9
6,3 and 6
2 1 X 20 Factors of 20 are 1, 20, 2, 10, 4, 5
2 X 10
4 X5
3 1X24 Factors of 24 are 1, 24, 2,12, 3, 8,4, 6
2 X 12
3X8
4 X6
4 1 X 36 Factors of 36 are 1, 36, 2, 18, 3, 12, 4,9, 6
2 X 18
3X12
4 X9
6 X6

e Factors

1 Factorsof8aret, 8, 2,4 4 1,49,7
2 Factorsof12arei, 12,2, 6, 3, 4 5 1,2,4,5,10, 20

3 1,2,3,6 6 1,2 3,56,10, 15,30
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Unit 9 Answers

Star Challenge answers
LE/V

F A %
-4 ==;‘v==. .
4\; == o Ordering problems All correct 1 star
&
1 36 58 63 65 85 5 Plymouth
2 89 99 109 809 901 6 Glasgow
3 550 505 500 55 54 7 (a) Plymouth (b) 1 mile
. 4 2031 321 302 231 203 8 (a) Joe Brown (b) Dave Black
pLEa,
A %
AN S . .
< 40 e Ordering numbers using < and > All correct 1 star
&
1 35<46<53<56<64<65 3 43>42>34>32>23
2 35< 53<351<503<531 4 654 > 564 > 546 > 465 > 456
p-EEA,
S A%

Statements about multiples 6 correct 1 star

5PE
||||||l

1 True multiples are 6, 12, 18, 24, 30, ...
(or any reasonable explanation)

2 False example suchas3 X 7 = 21
3 False examplesuchas?2 X 8 =16

4 True multiples are 6, 12, 18, 30, 36, 42, 48, 54, 60 ...
(or any reasonable explanation)

5 False 99

6 False examplesuchas2 X7 =14and 1+ 4is not

e equal to 7
L
A
-4 §A§=- . .
< == o Using divisibility tests 22-24 correct 1 star
K3
Number |divisible by 2| divisible by 10 |divisible by 5| divisible by 4
20 Yes Yes Yes No
36 Yes No No Yes
57 No No No No
435 No No Yes No
390 Yes Yes Yes No
7544 Yes No No Yes
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L Star Challenge answers continued
2™ e,
¢ -
" ¢ Divisibility challenge! 29-30 correct 2 stars
A 25-28 correct 1 star
170 170 290 570 3390
2 70 85 95 170 205 215 275 290
570 3390 4545
3 22 24 38 70 170 252 290 452
542 570 666 746 3390 8432
P
¢ «
% ife ‘Divisibility’ and ‘multiples of’ 4-5 correct 1 star
Y,
* 1 20 30 40 50
2 12 15 18
3 20 25 30 35 40 45 50 55
4 21 28
: @
6
ey

U f 4

[ Y 4 .

< 0 Factor diagrams 13 correct 2 stars
11-12 correct 1 star

3"""‘5’”0‘“ Diagram 1 Diagram 2 Diagram 3

’i )/ " ¢ e Factors 7-8 correct 2 stars

YJ\ 5-6 correct 1 star
11 2 4 8 512 3 5 6 10 15 30
2 1. 2 3 4 6 12 6 1 2 4 5 8 10 20 40
3 1.2 4 8 16 7 1 7 49

QJ’“’LE'VQ 4 1 3 9 27 8 1 2 510 25 50

o «

' N

< PR e Prime numbers 9-10 correct 2 stars

Ky 7-8 correct 1 star

The pupils have been asked to find 10 prime numbers.

Prime numbers:2 3 5 7 11 13 17 19 23 29 31
37 41 43 47 53 59 61 67 71 73 79
83 89 97
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